Laholms BK
Laholmssilvret 2011-01-22

Partavling, 20 bord, 40 par. Antal brickor: 42. Medel: 798.0.

Plac Par Poéang % Namn MID Klubb
1 22 999  62.59 Peter Kaspersson - Tommy Johansson 4202 16141 BK Allians, Halmstad - Laholms BK
2 37 993 62.22 Simon Ekenberg - Catrin Wahlestedt 41685 83325 Lilla Sallskapet - IFK Karlskrona
3 17 935 58.58 Jan-Erik Helmersson - Jérgen Neldemo 4243 18660 Veddige BS
4 8 925 57.96 Vera Gemrud - Per-Ingvar Skoglund 23764 2734 BK Falkenberg
5 14 903 56.58 Britt Larsson - Olle Hedman 86952 310  Mdlinlycke BS - BK Tre Sang, Helsingborg
6 9 901 56.45 Ola Svensson - Tor-Bjorn Bohman 21351 8467 Munka Ljungby BS - Angelholms BS
7 26 897 56.20 Ake Karlsson - Birger Johansson 39570 8490 BK Allians, Halmstad
8 7 876  54.89 Inger Ostenson-Traff - Sofia Alecu 89395 89416 BK Allians, Halmstad
9 10 863 54.07 Marie Ynner - Jan Wistrom 38957 4167 BK Allians, Halmstad
10 15 861 53.95 PerJansson - Lars Kennethsson 2485 17074 Konga BK - Anderstorps BK
11 12 857 53.70 Jan Olofsson - Leif Olofsson 4750 79 Kullabygdens BK
12 39 841 52.69 Olle Johansson - Einar Jénsson 30273 2732 BK Falkenberg
13 5 830 52.01 Svante Hallén - Christer Hedborg 80464 11610 BK Allians, Halmstad - Filbyter Bridge
14 2 827 51.82 Lars-Goéran Goransson - Kent Nordenberg 9617 9631 Laholms BK
15 38 819 51.32 Arne Eriksson - Arne Blomqvist 12242 7005 Anderstorps BK
16 20 812 50.88 Torleif Hagg - Per Andersson 12267 17111 BK Albrekts
17 21 809 50.69 Anders Jonsson - Irma Landstrém 11906 14890 BK Tre Sang, Helsingborg
18 25 803  50.31 Nils-Erik Ekholm - Lars-Gunnar Ludvigsson 5455 21719 Munka Ljungby BS
19 27 799 50.06 Monica Mikkelsen - Bernt-Olof Bengtsson 3966 23282 BK Allians, Halmstad
20 40 797  49.94 Fredrik Swérd - Lars Andersson 22191 11360 Munka Ljungby BS - Kullabygdens BK
21 16 793  49.69 Kaj Johansson - Géran Stiernfeldt 34980 15885 BK Allians, Halmstad - Hastveda BK
22 23 783  49.06 Bertil Sjdlinder - Gerd Axelsson 6917 13496 BK Tre Sang, Helsingborg
23 29 778  48.75 Christer Nilsson - Géran Johansson 12807 9624 Laholms BK
24 11 774  48.50 Lars Hed - Anders Norin 22968 8191 BK Allians, Halmstad
25 13 768  48.12 Ake Bergh - Peter Alrud 19320 92637 BK Tre Sang, Helsingborg
26 28 765  47.93 Mikael Johansson - Jorgen Ingvarsson 14885 1643 Kinnareds BK
27 35 756  47.37 Per-Inge Helmertz - Bo Andersson 1322 5896 Kullabygdens BK
28 4 745  46.68 Johan Millgvist - Else Holdt 7232 89099 Kullabygdens BK
29 24 742  46.49 Stig Unoson - Sally Helin 83337 5986 Vastra Bjare BK - BK Tre Sang, Helsingborg
30 6 740  46.37 Ingvar Dahlman - Anders Bengtson 85964 12196 Vastra Bjare BK
31 3 724  45.36 Barbro Enhorning Ahlstrom - Jiri Polacek 13568 5559 BK Tre Sang, Helsingborg
32 31 720  45.11 Erling Ohlsson - Uno Andersson 87034 14106 BK Albrekts
33 33 713  44.67 Tomas Tedvik - Bert Gustavsson 14663 12209 Vastra Bjare BK
34 32 711 4455 Oscar Hult - Bengt-Ove Olausson 12879 29888 Frolunda BS
34 36 711 4455 Per-Ingemar Nilsson - Wlodek Tugendraich 5632 82831 Lunds BK
36 1 701  43.92 Eva lLena Glimne - Gunilla Johansson 81091 32115 Laholms BK
37 19 700  43.86 Lars-Ake Larsmyr - Henrik Nilsson 14232 6667 Vastra Bjare BK
38 30 692 43.36 Sabine Dellien - Ingmar M&nsson 82259 10551 BK Allians, Halmstad - Hastveda BK
39 34 638 39.97 Inga-Maj Baath - Solveig Svensson 81079 91544 Laholms BK
40 18 619  38.78 Lennart Nordberg - Maud Brink 13321 82812 Laholms BK
1 464 2 & EKn2 3 a-
Nord v DKn943 Ost v 1097 Syd v 10754
Ingen ¢ K7 NS + E108654 ov ¢ KKn9874
#10642 #Kn #ED7
4ED92 4KKn10 #1087 4965 4Knl09 «KD7
v72 v E865 vKn2 v D864 v D63 v EKKn2
¢E42  +9863 ¢DKn7 ¢K ¢ E1053 ¢ D2
#E983 #KKn #E10872 #KD943 #K103 #Kn862
48753 « KD43 4 E865432
vK10 v EK53 v 98
+ DKn105 4932 +6
«D75 #65 #954
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poéang
9 32 3NO-1 +Q 50 320 6.0(37 4 3NS+1 *2 630 380 0012 31 3¢ V-2 v5 200 38.0 0.0
14 27 3NV-1 »6 50 320 6.0(17 24 3¢ S+2 *A 150 340 4.0(20 23 24 N= vA 110 36.0 20
18 23 3NO-1 +Q 50 320 6.0({21 20 3¢ S+2 a7 150 340 40(32 11 3¢ V-1 v5 100 33.0 50
19 22 3NO-1 +Q 50 320 6.0(39 2 2¢ S+3 v] 150 340 40(40 2 4¢ V-1 *A 100 33.0 50
35 6 3NO-1 +Q 50 320 6.0(35 6 3vS= a7 140 29.0 9.0(10 33 24 N-1 vK -50 30.0 8.0
37 4 3NV-1 v3 50 320 6.0({38 3 2v S+l 48 140 29.0 9.0(30 13 34 S-2 3 -100 26.0 12.0
40 1 3NO-1 +Q 50 320 60| 5 36 3¢ S+1 *A 130 20.0 18.0(34 9 2¢DN-1 ¥K -100 26.0 12.0
25 16 2N O +2 vK -180 24.0 14.0| 9 32 3¢ N+1 *K 130 20.0 180(36 7 3¢ S-2 a] -100 26.0 12.0
11 30 3NV = *2 -400 12.0 26.0(28 13 3¢ N+1 *K 130 20.0 18.0(22 21 34 S-3 v6 -150 21.0 17.0
17 24 3NO= +Q -400 12.0 26.0(29 12 3¢ N+1 *K 130 20.0 18.0(39 4 34 S-3 s] -150 21.0 17.0
21 20 3NO= +Q -400 12.0 26.0(31 10 4¢ N= *K 130 20.0 18035 8 2NO+2 +9 -180 18.0 20.0
26 15 3NO= +Q -400 12.0 26.0(33 8 2¢ N+2 *K 130 20.0 18.0(27 16 44DS-3 4T -500 16.0 22.0
28 13 3NO= +Q -400 12.0 26.0(34 7 2¢ N+2 *K 130 20.0 180| 6 37 3NO= v9 -600 10.0 28.0
29 12 3NO= +J -400 12.0 26.0(40 1 24DO-1 vA 100 12.0 26.0|18 25 3NO= a5 -600 10.0 28.0
31 10 3NO= vK -400 12.0 26.0(11 30 INN= *Q 90 9.0 29.0(19 24 3NO= +6 -600 10.0 28.0
33 8 3NV= vQ -400 12.0 26.0(14 27 INN= *4 90 9.0 29.0|26 17 3NO= +6 -600 10.0 28.0
34 7 3NO= +Q -400 12.0 26.0(18 23 5¢ N-1 *K -100 6.0 32.0(38 5 3NO= v9 -600 10.0 28.0
38 3 3NV= *2 -400 12.0 26.0|19 22 3NS-2 *2 200 2.0 360 1 3 3NV+1 v4 -630 2.0 36.0
39 2 3NO= +Q -400 12.0 26.0(25 16 4v S-2 *A -200 2.0 36.0(15 28 3NO +1 a4 -630 2.0 36.0
5 36 3NO+1 +Q -430 0.0 38.0(26 15 3v S-2 a7 -200 2.0 36.0(29 14 3NV +1 v4 -630 2.0 36.0
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4 « D106 5 #8532 6 «E108
Vast v KKn862 Nord v KKn1063 Ost v 1042
Alla ¢ E982 NS + D76 ov +83
&4 210 #KDKn76
& K7 & EKn985 « D6 » EK9 4« K9653 # DKn
v E43 v 107 vE754 vD98 v 63 v Kn87
+ D106 + K754 ¢ 532 + EKn109 + K62 + DKn104
#EKDKNn5 #96 #KKn84 #D97 #953 #10842
4432 « Kn1074 4742
v D95 v2 v EKD95
¢ Kn3 + K84 ¢ E975
#108732 #E6532 &E
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
10 33 3NV-1 2 100 350 3.0(33 12 4aV-1 &T 50 380 00| 7 38 6y S= v6 980 38.0 0.0
30 13 3NO-1 v9 100 350 3.0(13 32 INO+2 3 -150 36.0 20|13 32 4v S+2 v3 480 26.0 12.0
34 9 3NV-1 v2 100 350 3.0(11 34 INO+3 *3 -180 33.0 50(16 29 4v S+2 v6 480 26.0 12.0
35 8 3NO-1 v2 100 350 3.0(40 3 2NO+2 *2 -180 33.0 5.0(20 25 4v S+2 v6 480 26.0 12.0
1 3 3&«V+2 *4 -150 30.0 8.0| 7 38 3NO= 3 -400 28.0 10.0(21 24 4v S+2 *9 480 26.0 12.0
22 21 3NV= v2 -600 28.0 10.0|16 29 3NO= 3 -400 28.0 10.0|23 22 4v S+2 v6 480 26.0 12.0
38 5 44 V= v2 -620 26.0 120|39 6 3NO= ] -400 28.0 10.0|27 18 4v S+2 v6 480 26.0 12.0
6 37 3NV +1 +8 -630 24.0 140 1 5 3NO+1 »3 -430 13.0 25.0(28 17 4v S+2 v6 480 26.0 12.0
20 23 44 O+1 a2 -650 220 16.0| 2 4 3NO+1 *2 -430 13.0 25.0(30 15 4v S+2 v6 480 26.0 12.0
40 2 3NV +2 +8 -660 20.0 18.0|19 26 3NO+1 *2 -430 13.0 25.0(37 8 4v S+2 *9 480 26.0 12.0
18 25 44 O +2 v5 -680 16.0 22.0(20 25 3NO +1 a4 -430 13.0 25.0(39 6 4v S+2 v6 480 26.0 12.0
26 17 44 V+2 v5 -680 16.0 22.0|21 24 3NO+1 &5 -430 13.0 25.0|40 3 4v S+2 v3 480 26.0 12.0
27 16 44 V+2 *4 -680 16.0 22.0|23 22 3NO+1 *3 -430 13.0 25.0|11 34 4v S= 3 420 13.0 25.0
12 31 3NV +3 +8 -690 7.0 31.0|28 17 3NV +1 3 -430 13.0 25.0|31 14 4v S= 46 420 13.0 25.0
15 28 3NV +3 +8 -690 7.0 31.0(30 15 3NO+1 &3 -430 13.0 25.0(36 9 3v S+3 2 230 10.0 28.0
19 24 3NV +3 2 -690 7.0 31.0(31 14 3NO+1 a4 -430 13.0 25.0|19 26 4v S-1 a5 -50 7.0 31.0
32 11 3NV +3 46 -690 7.0 31.0|35 10 3NO+1 *2 -430 13.0 25.0(33 12 3NS-1 43 -50 7.0 31.0
36 7 3NV+3 +8 -690 7.0 31.0(36 9 3NO+1 *2 -430 13.0 25.0| 2 4 4v S-2 3 -100 3.0 35.0
39 4 3NV+3 46 -690 7.0 31.0(37 8 3NO+1 *2 -430 13.0 25.0|35 10 4v S-2 3 -100 3.0 35.0
29 14 3NV +4 2 -720 0.0 38.0(27 18 3N O +2 *3 -460 0.0 380| 1 5 4vS-3 43 -150 0.0 38.0
7 «E9 8 & 742 9 4 Kn10
Syd v 1043 Vast vE105 Nord v Kn985
Alla ¢ E953 Ingen ¢ K52 ov ¢ K43
£10876 D764 &DKn87
4 K1053 #4D76 K10 « ED93 D875 « E9643
vEK87 vDKn9 v93 v 8642 v K7 vD104
.7 + K104 + EDKn1097 ¢ 83 + DKn862 +¢9
#D954  &EKKN2 #1098 #Kn53 #43 #E962
4« Kn842 4 Kn865 4 K2
v 652 v KDKn7 vE632
¢ DKn862 ¢ 64 ¢ E1075
&3 &EK2 *K105
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poang
12 35 4NO-2 +Q 200 380 00| 2 6 3NN-= +8 400 370 10|13 36 2v O -4 »5 400 38.0 0.0
20 27 2&V +2 v5 -130 36.0 20|37 10 3NN= +8 400 370 10| 3 7 2¢v N+1 +9 140 350 3.0
3 5 3NO= +6 -600 27.0 110 1 7 INN+2 +8 150 300 80|25 24 3vS= a7 140 350 3.0
14 33 3NV = +5 -600 27.0 110 3 5 2NN+1 +8 150 300 80|15 34 INS= *2 90 30.0 8.0
22 25 3NO= 2 -600 27.0 11.0| 8 39 2NN +1 +8 150 30.0 80|22 27 INS= ¢+6 90 30.0 8.0
28 19 3NO= +6 -600 27.0 11.0(17 30 2NS+1 +Q 150 300 80|33 16 INS= +Q 90 30.0 8.0
29 18 3NO= *J -600 27.0 11.0(28 19 INN+2 +8 150 300 80| 4 6 3v N-1 +9 -50 23.0 15.0
36 11 3NO= +Q -600 27.0 11.0(14 33 2v S+1 v3 140 22.0 16.0|35 14 3v N-1 +9 -50 23.0 15.0
37 10 3NO = 2 -600 27.0 11.0|20 27 2v S+1 &T 140 22.0 16.0(38 11 2NS-1 +6 -50 23.0 15.0
38 9 3NO= +Q -600 27.0 11.0({40 4 2v S+1 &T 140 220 16.0{40 5 3v N-1 +9 -50 23.0 15.0
2 6 3NV+1 Ly -630 12.0 26.0|21 26 3& N= +8 110 16.0 220 9 1 4v S-2 +Q -100 17.0 21.0
17 30 3NO +1 43 -630 12.0 26.0|24 23 3&S= +A 110 16.0 22.0|37 12 3NN-2 a2 -100 17.0 21.0
21 26 3NO +1 +Q -630 12.0 26.0|38 9 24 S= *A 110 16.0 220 2 8 24 O+1 .7 -140 13.0 25.0
24 23 3NO +1 a2 -630 12.0 26.0|22 25 2¢ V-1 *6 50 9.0 29.0(32 17 34 V= vA -140 13.0 25.0
31 16 3NO +1 +6 -630 12.0 26.0|31 16 INO-1 vK 50 9.0 29.0(18 31 34 V+1 v5 -170 5.0 33.0
34 13 3NO +1 +Q -630 12.0 26.0|32 15 3¢ V-1 a2 50 9.0 29.0(21 28 24 O+2 vA -170 5.0 33.0
40 4 3NO+1 +Q -630 12.0 26.0|(34 13 3¢ V-1 2 50 9.0 29.0 (23 26 24 O+2 ¢A -170 5.0 33.0
1 7 3NO+2 +Q -660 2.0 36.0(36 11 2¢ V= a7 -90 40 34.0(29 20 24 O+2 vA -170 5.0 33.0
8 39 3NO+2 a4 -660 2.0 36.0(29 18 INS-2 *T -100 2.0 36.0(30 19 34 O+1 vA -170 5.0 33.0
32 15 3NV +2 vT -660 20 36.0(12 35 2¢DV= 2 -180 0.0 38.0(39 10 34 O+1 vA -170 5.0 33.0
10 « KD94 11 10975 12 41098654
Ost vED32 Syd v K65 Vast vD7
Alla ¢ 843 Ingen ¢ ED52 NS *4
D2 &E3 #DKn75
& Kn2 1086 48632 4 DKn & Kn7 432
v 754 v Kn1096 v 98 vED7 vKnl1082 v EK654
¢+ K7 + DKn5 ¢ KKn1073 ¢ 64 410962  # Kn8753
#Kn109543 #K76 #DKn #K109652 #1093 &E
« E753 « EK4 « EKD
v K8 v Kn10432 v93
¢ E10962 498 ¢ EKD
&E8 £874 £#K8642
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
25 24 44 S+3 &J 710 38.0 0.0|14 37 3yxDN+1 4Q 630 380 00| 4 8 44 N+1 A 650 36.0 20
2 8 44 N+1 46 650 340 40|23 28 44 V-5 vK 250 36.0 20(26 25 44 N+1 &A 650 36.0 20
13 36 44 S+1 *9 650 340 40| 3 9 2v N+2 v2 170 28.0 10.0(38 13 44 N+1 *A 650 36.0 20
29 20 44 N+1 vJ 650 340 40| 5 7 2vS+2 *Q 170 28.0 10.0| 1 11 44 N= vA 620 26.0 12.0
15 34 3NS+1 LN 630 300 8.0(22 29 3v S+1 *Q 170 28.0 100| 5 7 44 N= &A 620 26.0 12.0
3 7 44 S= *] 620 15.0 23.0(26 25 2v S +2 *Q 170 28.0 10.0|10 2 44 N= *A 620 26.0 12.0
4 6 44 S= &J 620 15.0 23.0|33 18 2v N+2 +6 170 28.0 10.0|14 37 44 N= vA 620 26.0 12.0
9 1 44 S= LN 620 15.0 23.0(38 13 2v S+2 *Q 170 28.0 10.0|22 29 44 N= &A 620 26.0 12.0
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18 31 44 S= *] 620 15.0 23.0(39 12 3v S+1 *Q 170 28.0 10.0|24 27 44 N= *A 620 26.0 12.0
21 28 44 S= *] 620 15.0 23.0(24 27 3v S= *Q 140 16.0 22.0|33 18 44 N= A 620 26.0 12.0
22 27 44 S= *J 620 15.0 23.0|30 21 3v S= *Q 140 16.0 22.0(16 35 5vDO-3 +A 500 15.0 23.0
23 26 44 S= *] 620 15.0 23.0(31 20 2v S+1 *Q 140 16.0 22.0(31 20 5vDO-3 +K 500 15.0 23.0
30 19 44 N= *] 620 15.0 23.0(36 15 34 N= +6 140 16.0 22.0(36 15 5vDO-3 +4 500 15.0 23.0
32 17 44 S= *J 620 150 23.0({40 6 24 N+1 6 140 16.0 22.0|39 12 5¢DV-3 ¥vQ 500 15.0 23.0
35 14 44 S= *] 620 150 23.0(10 2 2v S= *Q 110 9.0 29.0(34 17 34 N+ vK 170 10.0 28.0
37 12 44 S= *] 620 15.0 23.0|16 35 2v S= *Q 110 9.0 29.0(19 32 5v O-3 *A 150 8.0 30.0
38 11 44 S= *J 620 150 23.0( 1 11 3#0-1 +9 50 40 340 3 9 44S= v] 130 4.0 34.0
39 10 44 S= *] 620 150 230 4 8 3#V-1 +9 50 4.0 34.0(23 28 34 S+l vJ] 130 4.0 34.0
40 5 44 S= *] 620 150 23.0(34 17 34 0-1 +9 50 40 34.0(30 21 3« N+1 vJ] 130 4.0 34.0
33 16 3NS= LN 600 0.0 38019 32 34 N-1 »5 -50 0.0 380(40 6 54 N-1 &A -100 0.0 38.0
13 « KD4 14 # Kn83 15 « DKn7
Nord v KD94 Ost v 986 Syd v5
Alla ¢ ED5 Ingen + K863 NS + K6
K54 762 #Kn987643
4 E10952 487 4 D7642 &EK5 « E32 & K1095
v Kn10 v 632 vK2 vED7 vK103 v EKn962
¢ 876 41094 ¢ Kn952 ¢ D1074 ¢ D9832 ¢ 1075
#976 #DKn832 »K8 #DKn9 &ED &5
«Kn63 109 + 864
vE875 vKn10543 v D874
¢ KKn32 +E ¢ EKn4
&E10 #E10543 K102
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
2 12 6NN= ¢T 1440 340 40|37 16 4v V-4 6 200 380 00|40 8 4v 0O-3 46 150 38.0 0.0
5 9 6NN= +J 1440 340 40|35 18 3NO-1 vJ] 50 360 20|21 34 3vO-2 »2 100 36.0 20
11 3 6NN= ¢T 1440 340 40|11 3 44 0= *A 420 290 90| 1 15 4v V-1 2 Q 50 29.0 9.0
37 16 6NS= a4 A 1440 340 40|17 36 44 O= ¢ A 420 290 90| 2 14 4v V-1 *6 50 29.0 9.0
39 14 6NS= A 1440 340 4.0(20 33 44 V= v6 -420 29.0 9.0| 5 11 4vO-1 46 50 29.0 9.0
6 8 6vS= v3 1430 20.0 18.0|23 30 4e V= v9 -420 290 9.0| 6 10 4v O-1 a4 50 29.0 9.0
17 36 6v N= &6 1430 20.0 18.0(32 21 44 O= ¢ A 420 290 90| 7 9 4v V-1 *9 50 29.0 9.0
20 33 6v N= v3 1430 20.0 18.0(39 14 44 V= v9 -420 290 9.0|25 30 4v O-1 a4 50 29.0 9.0
24 29 6v S= oA 1430 20.0 180| 1 13 3NV +1 +3 -430 15.0 23.0|36 19 3& N-1 a5 -100 22.0 16.0
25 28 6v N= &3 1430 20.0 180| 4 10 3NO+1 *2 -430 15.0 23.0|28 27 3v O= 46 -140 19.0 19.0
27 26 6v N= 8 1430 200 180 5 9 3NO+1 »5 -430 150 23.0(32 23 3v O= 46 -140 19.0 19.0
31 22 6v N= 48 1430 20.0 18.0|15 38 3NO+1 3 -430 15.0 23.0(24 31 3v V+1 »8 -170  15.0 23.0
35 18 6v S= vJ 1430 20.0 18.0|25 28 3N O +1 v3 -430 15.0 23.0|35 20 3v O +1 »8 -170 15.0 23.0
40 7 6v N= *Q 1430 20.0 18.0(27 26 3NO+1 vJ -430 15.0 23.0|38 17 3#DN-1 5 -200 12.0 26.0
1 13 3NN+3 48 690 9.0 29.0(34 19 3NO+1 vJ] -430 15.0 23.0(33 22 3NV= 3 -400 10.0 28.0
15 38 3NN +3 *7 690 9.0 29.0(40 7 3NO+1 vl] -430 15.0 23.0| 3 13 4v O= 46 -420 6.0 32.0
4 10 4v N+2 48 680 3.0 350 2 12 44 V+1 v6 450 4.0 340|12 4 4v V= »8 -420 6.0 32.0
23 30 4v S+2 vT 680 3.0 350 6 8 44 V+l v6 -450 4.0 34.0|18 37 4v V= »7 -420 6.0 32.0
32 21 4v S+2 s A 680 3.0 35.0(31 22 44 V+1 v8 -450 4.0 34.0(16 39 3NV +1 *3 -430 1.0 37.0
34 19 5v S+1 +8 680 3.0 350(24 29 4vDS-5 2 -1100 0.0 38.0|26 29 3NV +1 *7 -430 1.0 37.0
16 « EDKn953 17 « KKn932 18 « EKn642
Vast vE3 Nord v3 Ost v5
oV ¢ Kn753 Ingen ¢ DKn95 NS ¢ E1094
&Kn D75 #1082
106 & K72 4 E10765 D8 4D1085 &K93
v D87 v K965 v 105 v EKDKn9764 v 764 v EDKNn109832
¢ 1094 + EK8 ¢+ K2 +76 + D5 + K
#E10652 #K87 #K942 *3 #KDKn6 3
4384 a4 a7
vKn1042 v 82 vK
+ D62 + E10843 + Kn87632
D943 #EKn1086 &#E9754
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéng Par  Kontr ut Res Poang
2 14 24 N+1 + K 140 360 20| 7 11 4¢v0O-1 Ly 50 370 10|33 24 5vDO-2 &7 300 370 1.0
12 4 24 N+1 ¢A 140 36.0 20|29 28 4v0O-1 a4 50 370 10|36 21 5vDO-2 &A 300 370 1.0
26 29 24 N+1 + K 140 360 20|19 38 5¢DN-2 vA -300 340 40| 4 14 5v O0-2 49 100 340 4.0
3 13 24 N= *A 110 310 70| 3 15 4v 0= Ly 420 290 90| 2 16 4v O-1 +3 50 22.0 16.0
7 9 24 N= + K 110 310 70|13 5 4v 0= a4 -420 290 9.0| 3 15 4v0O-1 *A 50 22.0 16.0
511 34V-1 s A 100 26.0 12.0(22 35 4v O= a4 -420 29.0 9.0| 7 11 4v O-1 a7 50 22.0 16.0
21 34 INV-1 .7 100 26.0 12.0|34 23 4v O = a4 420 290 9.0|13 5 4vO-1 &A 50 22.0 16.0
36 19 INO-1 48 100 26.0 120| 2 16 5v O = *A -450 16.0 22.0|22 35 4v O-1 a7 50 22.0 16.0
115 34 N-1 *A -50 18.0 20.0| 4 14 5vO= *A -450 16.0 22.0(26 31 4v O-1 a7 50 22.0 16.0
16 39 34 N-1 *A -50 18.0 20.0| 8 10 4v O+1 a4 -450 16.0 22.0|27 30 4v O-1 a7 50 22.0 16.0
24 31 34 N-1 + K -50 18.0 20.0(17 1 5v0O= *A -450 16.0 22.0|29 28 4v O-1 a7 50 22.0 16.0
32 23 34 N-1 ¢ A -50 18.0 20.0(25 32 4v O +1 a4 -450 16.0 22.0(37 20 4v O-1 +3 50 22.0 16.0
33 22 34 N-1 + K -50 18.0 20.0(33 24 5v O= Ly -450 16.0 22.0|39 18 4v O-1 A 50 22.0 16.0
6 10 INO= 48 -90 12.0 26.0 (37 20 4v V +1 +Q -450 16.0 22.0|40 9 4v O-1 *A 50 22.0 16.0
25 30 3&V= s A -110 10.0 28.0(39 18 4v O +1 ¢ A -450 16.0 22.0| 8 10 5¢ S-2 v7 200 9.0 29.0
35 20 2NO = 8 -120 8.0 30.0{40 9 4v O+1 Ly -450 16.0 22.0(25 32 5¢DN-1 YA -200 9.0 29.0
28 27 3&V+1 s A -130 50 33.0(36 21 54DS-3 ¢T -500 6.0 32017 1 64 N-3 vA -300 6.0 32.0
38 17 3&V+1 s A -130 5.0 33.0(26 31 5vDO= ¢ A -650 4.0 34.0| 6 12 4v O= a7 -420 2.0 36.0
18 37 INO+3 v2 -180 20 36.0| 6 12 54DS-4 ¢T -800 2.0 36.0|19 38 4v O= a7 -420 2.0 36.0
40 8 34DV +1 4A -870 0.0 38.0{27 30 54aDN-5 ¢K -1100 0.0 38.0(34 23 4v O= a7 -420 2.0 36.0
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19 #1063 20 & Kn63 21 462
Syd v5 Vast v DKn6 Nord vE1074
ov ¢ KD543 Alla + K975 NS + D95
#ED74 #EK4 #E862
«KD 95 & K7 4E95 4 KDKn108 4E75
vKDKn92 ¢10763 v 1075 v E932 v 92 v D8653
¢+ E82 + 1096 + D4 +Knl0 ¢ Knl076 ¢ K4
#Kn52 10986 #D109765 #Kn832 *75 «D103
« EKn8742 « D10842 943
vE84 v K84 v KKn
¢ Kn7 ¢ E8632 ¢ E832
*K3 *- #KKn94
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
26 33 44DS+1 v¥K 690 380 00|14 6 44 N+1 3 650 380 00| 8 14 3NN= 46 600 38.0 0.0
1 19 44 S+1 vK 450 21.0 170 8 12 3NN+1 +J 630 36.0 20|19 3 2v0O-4 49 200 36.0 20
4 16 4v S+1 vK 450 21.0 170| 1 19 44 S= *9 620 25.0 13.0(27 34 34 V-3 5 150 340 4.0
5 15 44 S+1 vK 450 21.0 170| 3 17 44 N= *J 620 25.0 13.0|36 25 3# N+1 ¢+ K 130 320 6.0
7 13 44 S+1 vK 450 21.0 17.0| 4 16 44 S= &T 620 25.0 13.0|38 23 2NN= a5 120 30.0 8.0
8 12 44 S+1 vK 450 21.0 170( 5 15 44 S= *9 620 25.0 130 9 13 3« N= v6 110 27.0 11.0
9 11 44 S+1 vK 450 21.0 17.0| 7 13 44 S= «Q 620 25.0 13035 26 3 N= &K 110 27.0 11.0
14 6 44 S+1 vK 450 21.0 17.0| 9 11 44 S= v3 620 25.0 130 4 18 34 V-2 *A 100 23.0 15.0
18 2 44 S+1 vK 450 21.0 17.0(23 36 44 N= *J 620 25.0 13.0(40 11 24 V-2 46 100 23.0 15.0
20 39 44 S+1 vK 450 21.0 17.0|26 33 44 S= *6 620 25.0 13.0|15 7 INS= aK 90 20.0 18.0
23 36 44 S+1 vK 450 21.0 17.0|28 31 44 S= *7 620 25.0 130 2 20 24 V-1 +5 50 11.0 27.0
27 32 44 S+1 vK 450 21.0 17.0|38 21 44 S= v7 620 25.0 130( 5 17 24 V-1 *A 50 11.0 27.0
28 31 44 S+1 vK 450 21.0 17.0|40 10 3NN= &3 600 140 240| 6 16 34 V-1 *A 50 11.0 27.0
35 24 44 S+1 vK 450 21.0 17.0(27 32 24 S+2 *6 170 11.0 27.0|10 12 24 V-1 46 50 11.0 27.0
37 22 44 S+1 vQ 450 21.0 17.0(34 25 24 S+2 v5 170 11.0 27.0|24 37 INO-1 *9 50 11.0 27.0
38 21 44 S+1 vK 450 21.0 17.0|120 39 2¢ N+3 v3 150 7.0 31.0|28 33 2+ V-1 a2 50 11.0 27.0
40 10 44 S+1 vK 450 21.0 17.0|37 22 2¢ N+3 3 150 7.0 31.0|31 30 INO-1 *4 50 11.0 27.0
3 17 44 S= vK 420 2.0 36.0(30 29 3¢ S+1 *7 130 4.0 340|139 22 34 V-1 46 50 11.0 27.0
30 29 44 N= vQ 420 20 36.0|18 2 2+V-1 +5 100 20 36.0|21 1 INO= &2 90 2.0 36.0
34 25 44 S= vK 420 20 36.0|35 24 44 O= ¢J -620 0.0 38.0|29 32 24 V= *A -110 0.0 38.0
22 3 23 « Kn1075 24 « EKD1073
Ost v 962 Syd vE94 Vast vE97
ov 410983 Alla ¢ 75 Ingen ¢+ D10
#109543 #D653 +D8
& KKn95 «ED876 oK « ED6432 454 & Kn82
vKKn1085 ¢3 vKKn72 v1065 vK84  vDKnl1063
¢EKKn4  ¢762 ¢ Kn983 462 ¢ EK83 ¢762
*- #Kn762 #E1087 %92 #K653 #E2
« 1042 98 »96
vED74 v D83 v52
+ D5 ¢+ EKD104 ¢ Kn954
#EKD8 #KKn4 #Kn10974
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
40 11 3+ V-4 a4 400 380 00(20 4 34DO-1 ¢A 200 37.0 10| 9 15 24DN= vQ 470 38.0 0.0
15 7 3v V-2 43 200 350 30|25 38 2v0O-2 v4 200 37.0 10| 6 18 1a N+2 vQ 140 35.0 3.0
28 33 64 O-2 *K 200 350 30| 6 18 INS+3 v2 180 340 40|22 2 34N= vQ 140 35.0 3.0
19 3 3¢ 0-1 *A 100 30.0 80| 7 17 2NS+1 +K 150 320 60| 1 23 24 N= vQ 110 30.0 8.0
21 1 2v V-1 43 100 30.0 80| 1 23 INS+1 *J 120 25.0 130(20 4 24 N= *A 110 30.0 8.0
29 32 64 O-1 *K 100 30.0 80| 519 INS+1 +8 120 25.0 13.0(36 27 24 N= *A 110 30.0 8.0
8 14 2¢ O= *A 90 26.0 12.0(10 14 INS+1 »7 120 25.0 13.0| 3 21 4vO-2 9 100 26.0 12.0
6 16 34 O+1 *A -170 23.0 15.0(11 13 INS+1 v3 120 25.0 130 5 19 24 N-1 *A -50 19.0 19.0
31 30 34 O+1 *K -170  23.0 15.0(22 2 INS+1 +8 120 25.0 130 7 17 34 N-1 *A -50 19.0 19.0
27 34 2v V+3 43 -200 20.0 18.0(40 12 INS+1 *8 120 25.0 130(16 8 34 N-1 SA -50 19.0 19.0
5 17 24 O+4 *A -230 17.0 21.0|28 35 24 O-1 ¢+ K 100 16.0 22.0|30 33 34 N-1 *A -50 19.0 19.0
24 37 24 O+4 *K -230 17.0 21.0(30 33 2NV-1 3 100 16.0 22.0|37 26 34 N-1 vQ -50 19.0 19.0
4 18 3NO= *A -600 14.0 24.0|32 31 2v O-1 ¢A 100 16.0 22.0|40 12 24 N-1 vQ -50 19.0 19.0
9 13 44 O= &K -620 12.0 26.0| 9 15 2¢ S= &K 90 110 27.0|25 38 3v V= &K -140 9.0 29.0
38 23 54 O= *A -650 9.0 29.0|29 34 INS= v7 90 11.0 27.0|28 35 3v V= 49 -140 9.0 29.0
39 22 44 O+1 *A -650 9.0 29.0 3 21 3¢ S-1 aK -100 7.0 31.0(29 34 3v O= 9 -140 9.0 29.0
2 20 44 O+2 *A -680 4.0 34.0(39 24 3NS-1 v7 -100 7.0 31.0(39 24 3v O= 49 -140 9.0 29.0
10 12 44 O +2 *A -680 4.0 34.0(37 26 24 O= *A -110 4.0 34.0(11 13 3v O+1 49 -170 3.0 35.0
35 26 44 O+2 *A -680 4.0 34.0(36 27 3NS-2 »7 200 2.0 36.0(32 31 3v O+1 49 -170 3.0 35.0
36 25 44D O+1 #A -990 0.0 38.0(16 8 3NS-3 v2 -300 0.0 38.0(10 14 34DN-2 A -300 0.0 38.0
25 « 82 26 ~E43 27 & Kn762
Nord vK Ost v 65 Syd v D543
ov ¢ E10976 Alla ¢ E9543 Ingen 4983
#EKn543 #KKn9 *K3
96 4 EDKn74 4D1052 &4 KKn76 aD54 43
v 1087432 vDKn5 v 84 vED93 vE962 v87
¢ K8 ¢ DKn4 *7 ¢ K102 ¢KD  ¢Kn7654
*K62 *97 #ED8632 #105 #E642 #D10987
« K1053 498 « EK1098
vE96 v KKn1072 v KKn10
+532 ¢ DKn86 ¢ E102
«D108 *74 #Kn5
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poéng
6 20 34 0-4 *7 400 380 00| 8 18 44 O-3 ¢A 300 380 00|24 4 34S+1 *2 170 38.0 0.0
11 15 34 O-3 »8 300 350 30|37 28 34 V-2 43 200 350 30| 2 26 14 S+2 *K 140 26.0 12.0
21 5 340-3 +5 300 350 3.0(40 13 34 V-2 ¢A 200 350 30| 5 23 24 S+1 +K 140 26.0 12.0
29 36 24 O-2 *2 200 31.0 70| 2 24 44 V-1 v6 100 300 80| 7 21 34 S= ¢+ K 140 26.0 12.0
33 32 34 O-2 8 200 31.0 70|23 3 3#0-1 »8 100 30.0 80| 8 20 34 S= *K 140 26.0 12.0
26 39 4#S+1 49 150 27.0 11031 34 24 V-1 v6 100 30.0 80| 9 19 24 S+1 +K 140 26.0 12.0
30 35 2N S+1 49 150 27.0 11.0(33 32 4¢ N- a7 -100 26.0 12.0|11 17 34 S= ¢+ K 140 26.0 12.0
7 19 3¢ N+1 *9 130 18.0 20.0|29 36 24 V= v6 -110 24.0 14.0|12 16 34 S= ¢+ K 140 26.0 12.0
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8 18 3¢ N+1 vQ 130 18.0 20.0| 4 22 24 V+1 v5 -140 150 23.0|22 6 34 S= v6 140 26.0 12.0
10 16 2¢ N+2 v5 130 18.0 20.0| 6 20 24 V +1 v6 -140 150 23.0|27 1 34 S= + K 140 26.0 12.0
12 14 2¢ N+2 s A 130 18.0 20.0| 7 19 34 V= ¢ A -140 15.0 23.0(34 33 24 S+1 ¢A 140 26.0 12.0
23 3 2¢ N+2 v5 130 18.0 20.0(10 16 34 V= v6 -140 15.0 23.0(39 28 24 S+1 +K 140 26.0 12.0
37 28 3¢ N+1 vQ 130 18.0 20.0|11 15 24 V +1 v6 -140 150 23.0| 3 25 54 0-2 s A 100 14.0 24.0
40 13 2¢ N+2 vQ 130 18.0 20.0(12 14 24 O+1 *7 -140 15.0 23.0(13 15 44 V-1 46 50 11.0 27.0
31 34 2NS= 49 120 9.0 29.0(21 5 24 V+1l v6 -140 15.0 23.0|32 35 44 0-1 & K 50 11.0 27.0
38 27 2NS= v4 120 9.0 29.0(26 39 24 V+1 v6 -140 15.0 23.0|18 10 44 S-1 A -50 7.0 31.0
4 22 3¢ N= v] 110 50 33.0| 1 25 34 V+1 ¢A -170 4.0 340|338 29 44 S-1 +Q -50 7.0 31.0
17 9 3&N= v5 110 50 33.0(17 9 34 V+l v6 -170 4.0 34.0|30 37 44 0= & K -130 2.0 36.0
1 25 4¢ N-2 s A -100 2.0 36.0(30 35 34 O+1 *A -170 4.0 34.0|31 36 44 0= a K -130 2.0 36.0
2 24 3vV= 48 -140 0.0 38.0(38 27 34DO= v6 -730 0.0 38.0(40 14 3&V+1 &K -130 2.0 36.0
28 « KDKn82 29 « K74 30 « EK1084
Vast vKn62 Nord v72 Ost v 10
NS 41082 Alla ¢ DKn942 Ingen ¢ Kn10543
K2 #DKn6 & KKn
4 E76 41053 4Knl109 4 E863 4632 4 D95
v 83 v E954 v 109864 vKD vK9432 D876
¢ DKn63 ¢ EK74 ¢85 + EK63 ¢+ KD7 + 96
#DKn97 &E8 #982 #E105 *72 #E1083
494 4« D52 & Kn7
vKD107 v EKn53 v EKn5
¢ 95 ¢ 107 ¢ E82
#106543 K743 #D9654
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
22 6 3NV-2 2 Q 100 380 00|10 20 3¢RDV-4 v7 2200 380 00|14 16 3vyDV-2 &K 300 38.0 0.0
9 19 14 N= *A 80 360 20| 1 29 3NO-4 *3 400 36.0 20(23 7 34 N= v7 140 36.0 20
8 20 3NO-1 49 50 330 50| 9 21 2¢ V-3 v7 300 320 6.0|33 36 3¢ N= v7 110 330 5.0
31 36 2NO-1 v7 50 330 50(28 2 2NO-3 *T 300 320 6.0(39 30 2¢ S+1 v3 110 330 5.0
12 16 2¢ O+1 +9 -110 28.0 10.0|39 30 3NO-3 v5 300 320 60| 4 26 1a N= +9 80 30.0 8.0
24 4 3¢ O= 49 -110 28.0 10.0|12 18 2N O-2 v5 200 28.0 100| 6 24 2NS-1 v9 -50 25.0 13.0
38 29 3¢ O= 49 -110 28.0 10.0| 3 27 3v V-1 +Q 100 23.0 150| 8 22 3NN-1 +9 -50 25.0 13.0
7 21 2NO+1 *4 -150 23.0 150| 6 24 2NO-1 *4 100 23.0 150| 9 21 44 N-1 vT -50 25.0 13.0
27 1 2NO+1 vK -150 23.0 15.0|13 17 3v O-1 *4 100 23.0 150(19 11 3NS-1 v3 -50 25.0 13.0
32 35 INV+3 s K -180 19.0 19.0|35 34 3v O-1 *T 100 23.0 150 1 29 3NS-2 v3 -100 15.0 23.0
34 33 2NV +2 oK -180 19.0 19.0(14 16 24 O= *T -110 17.0 21.0(10 20 44 N-2 *6 -100 15.0 23.0
2 26 3NO= vK -400 12.0 26.0|32 37 2v V= +Q -110 170 21.0(25 5 3NS-2 v3 -100 15.0 23.0
523 3NO= v5 -400 12.0 26.0| 8 22 3v V= +Q -140 9.0 29.0(28 2 3NS-2 v2 -100 15.0 23.0
13 15 3NO = vK -400 12.0 26.0|19 11 3v V= v2 -140 9.0 29.0|32 37 44 N-2 v7 -100 15.0 23.0
39 28 3NO= vK -400 120 26.0|23 7 3v V= +Q -140 9.0 29.0|40 15 44 N-2 v7 -100 15.0 23.0
40 14 3NO= vK -400 120 26.0|25 5 3vO= *T -140 9.0 29.0| 3 27 3NS-3 v3 -150 5.0 33.0
3 25 3NO+1 *4 -430 4.0 340|333 36 3v O= *T -140 9.0 29.0|12 18 3NS-3 v3 -150 5.0 33.0
11 17 3NO+1 *4 430 4.0 34.0(40 15 3v O= T -140 9.0 29.0|31 38 3NS-3 v2 -150 5.0 33.0
18 10 3NO +1 &4 430 4.0 34.0|31 38 3v O+1 *T -170 2.0 36.0|(35 34 3NS-3 v2 -150 5.0 33.0
30 37 34DN-3 +A -800 0.0 380| 4 26 4v V= v2 -620 0.0 38.0|13 17 3NS-4 v3 -200 0.0 38.0
31 & KD42 32 «E10 33 & Kn92
Syd v KKn9 Vast v D432 Nord v93
NS + KKn1096 oV 4762 Ingen ¢+ DKn872
+10 #E643 &EKD
4 EKNn73 48 » 862  KDKn3 4 K73 «#D1086
vD8654 vE73 v 108 vKn975 vK107 v642
+4 ¢+ E52 + EKDKn43 ¢ 10 ¢ E964 ¢ K10
#EKNn8  #K96532 +K10 #8752 #1073 #9642
410965 49754 «E54
v 102 v EK6 v EDKn85
+ D873 4985 +53
D74 #DKn9 #Kn85
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéng Par  Kontr ut Res Poang
13 19 3¢DN= 48 670 380 00[20 12 3¢DV-1 ¢3 200 380 00|14 20 3NS= *4 400 370 1.0
2 30 4v V-1 & K 50 350 30| 2 30 3NV-1 *4 100 320 6.0|{37 36 3NN= v7 400 370 1.0
33 38 54 0-1 +3 50 350 30| 4 28 3¢ V-1 *7 100 320 6.0| 3 31 3vy N= v4 140 340 4.0
7 25 34 0+1 +3 -130 320 6.0(14 18 3¢ V-1 s A 100 320 60| 2 32 2¢vS= 3 110 310 7.0
26 6 3#0+2 oT -150 30.0 80|15 17 3¢ V-1 v4 100 320 6.0|11 23 2v S= a7 110 310 7.0
9 23 3v V+l &T -170 28.0 10.0(34 37 2¢ V-1 aT 100 320 6.0({15 19 3NN-1 8 -50 26.0 12.0
32 39 3v V+2 &T -200 25.0 13.0| 7 25 2¢ V= s A -90 25.0 13.0(21 13 4v N-1 v3 -50 26.0 12.0
40 16 2v V +3 &T -200 25.0 13.0|36 35 2¢ V= v3 -90 25.0 13.0(25 9 3NN-1 48 -50 26.0 12.0
5 27 4v V= *T -420 19.0 19.0| 9 23 2¢ V+1 aA -110 16.0 22.0( 6 28 3NN-2 46 -100 16.0 22.0
10 22 4v V= +6 -420 19.0 19.0(10 22 2¢ V+1 s A -110 16.0 22.0|10 24 2v S-2 *7 -100 16.0 22.0
20 12 4v V= & K -420 19.0 19.0|11 21 3¢ V= s A -110 16.0 22.0|16 18 3NN-2 46 -100 16.0 22.0
34 37 4v V= &T -420 19.0 19.0(13 19 2¢ V+1 aA -110 16.0 22.0|27 7 4vS-2 ¢ A -100 16.0 22.0
131 4vV+l &T -450 7.0 31.0(26 6 2¢ V+1 s A -110 16.0 22.0|33 1 4y N-2 8 -100 16.0 22.0
4 28 4v V+1 &T -450 7.0 31.0(29 3 2¢ V+1 s A -110 16.0 22.0{34 39 3NN-2 v6 -100 16.0 22.0
11 21 4v V+1 &T -450 7.0 31.0|32 39 3¢ V= a A -110 16.0 22.0|{35 38 3NN-2 8 -100 16.0 22.0
14 18 4v V+1 &T 450 7.0 31.0({24 8 INV+1 *4 -120 7.0 31.0| 5 29 3NN-3 a2 -150 4.0 34.0
15 17 4v V +1 &T -450 7.0 31.0|40 16 INO+1 vK -120 7.0 31.0| 8 26 3NN-3 a7 -150 4.0 34.0
24 8 4v V+1 &T -450 7.0 31.0| 1 31 2¢ V+2 aA -130 4.0 34.0(12 22 3NN-3 48 -150 4.0 34.0
29 3 4vV+l &T -450 7.0 31.0| 5 27 3#N-3 a K -150 1.0 37.0|130 4 3NN-3 46 -150 4.0 34.0
36 35 4v V+1 &T -450 7.0 31.0(33 38 3¢ V+2 s A -150 1.0 37.0|40 17 3NN-3 46 -150 4.0 34.0
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34 « K10 35 #1085 36 «D
Ost vKn98 Syd v 852 Vast v EKD1054
NS + KKn106 oV + D106 Alla ¢ 852
#Kn1096 #EK109 D98
aD & E£98632 aKn74 &ED9 47643 4 EKN92
vEKD532 v64 vE1064 v DKn973 v72 v Kn86
¢+ D975 + E432 ¢+ KKn2 ¢E5 ¢EKN6 ¢D3
&E7 8 #852 +Kn64 #EKn43 #10765
4 Kn754 K632 + K1085
v 107 vK v93
+8 498743 + K10974
#KD5432 &D73 »K2
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
14 20 64 V-4 *] 200 370 10|11 25 4v0O-1 *3 100 350 3.0(26 10 34 O-2 v9 200 38.0 0.0
21 13 64 O-4 +8 200 370 1012 24 4v O-1 +9 100 350 3.0(12 24 2v N+2 49 170 35.0 3.0
3 31 44 O-2 +8 100 310 70|16 20 4v O-1 +9 100 350 3.0[40 18 2v N+2 LN 170 350 3.0
529 44 O-2 &K 100 310 7.0(36 39 4v V-1 aT 100 350 3.0| 3 33 2¢v N+1 v6 140 27.0 11.0
6 28 44 O-2 &K 100 31.0 70| 9 27 24 S-1 a4 -50 300 80| 6 30 2v N+1 *7 140 27.0 11.0
40 17 44 O-2 &K 100 31,0 70(34 2 1vO+1 +9 -110 28.0 10.0|16 20 2v N +1 *6 140 27.0 11.0
8 26 44 O-1 +9 50 23.0 150| 3 33 2v O +1 *T -140 16.0 22.0|17 19 2v N+1 +Q 140 27.0 11.0
11 23 44 O-1 &K 50 23.0 150 4 32 3vO= #3 -140 16.0 22.0(31 5 2v N+1 *6 140 27.0 11.0
16 18 34 O-1 &K 50 23.0 150 7 29 2v O +1 +9 -140 16.0 22.0|38 37 2v N+1 *6 140 27.0 11.0
37 36 5¢ O-1 &K 50 23.0 150|133 23 2v O +1 3 -140 16.0 22.0| 9 27 24 N= +Q 110 14.0 24.0
33 1 3vV+l v8 -170 18.0 20.0|15 21 3v O= #3 -140 16.0 22.0|11 25 2v N= +Q 110 14.0 24.0
2 32 4v V= LN -420 12.0 26.0|17 19 3v V= +9 -140 16.0 22.0|13 23 2y N= &T 110 140 24.0
10 24 4v V= *] -420 12.0 26.0|22 14 2v O +1 +3 -140 16.0 22.0|15 21 2v N= +Q 110 14.0 24.0
15 19 4v V= *] -420 12.0 26.0(26 10 2y O +1 +9 -140 16.0 22022 14 2v N= +Q 110 14.0 24.0
25 9 4v V= LN -420 120 26.0|35 1 2v O+1 +9 -140 16.0 22.0(34 2 2v N= +Q 110 14.0 24.0
30 4 44 O= *Q -420 12.0 26.0|38 37 3v O= +9 -140 16.0 22.0|36 39 2v N= *6 110 14.0 24.0
12 22 4v V +1 *T -450 50 33.0{40 18 3v O= *Q -140 16.0 22.0| 4 32 2v N-1 +0Q -100 3.0 35.0
34 39 4v V+1 *] -450 50 330|311 5 34S-3 vA -150 4.0 340| 7 29 3v N-1 +Q -100 3.0 35.0
27 7 3NV +2 6 460 2.0 36.0|28 8 2v O+2 *4 -170 2.0 36.0|28 8 4y N-1 v6 -100 3.0 35.0
35 38 44 O +2 *] -480 0.0 38.0| 6 30 4vO= .7 -620 0.0 38.0(35 1 4v N-1 *7 -100 3.0 35.0
37 «E9 38 « KKn103 39 # EK52
Nord vD1084 Ost vKn763 Syd v Kn10954
NS ¢ EKD5 oV ¢ Kn2 Alla ¢-
#1094 D43 #K652
& K76 & Kn842 «ED764 4852 D86 & Kn
vEKNn97 vK653 v 85 v 1042 v8 v K73
¢1086 ¢92 ¢+ D93 + EK6 ¢+ EKn10864 ¢ KD9753
&D73 #EKS8 £K86 #E752 *ED7 #Kn109
« D1053 49 4109743
v2 v EKD9 v ED62
¢ Kn743 4108754 2
#Kn652 #Kn109 %843
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poang
23 15 INDN+1 &A 380 380 00|35 3 34RDO-2 ¥3 1000 380 00| 5 35 44DS= v8 790 38.0 0.0
12 26 3NV -3 + K 150 350 30|18 20 2NO-3 +5 300 350 3.0(19 21 54 S+1 ¢ A 680 36.0 20
37 1 INN+2 v3 150 350 3.0(27 11 44 V-3 v3 300 350 30|15 25 4v S+1 46 650 340 4.0
4 34 INN+1 &K 120 290 90| 4 34 34 V-2 *J 200 26.0 12.0|17 23 44 S= *A 620 320 6.0
10 28 INN+1 v5 120 290 90| 5 33 34 V-2 +J 200 26.0 12.0|33 7 64DV-2 &K 500 29.0 9.0
17 21 INN+1 *A 120 290 90| 7 31 34V-2 v6 200 26.0 12.0(37 3 34DV-2 vJ 500 29.0 9.0
36 2 INN+1 a4 120 290 90| 8 30 34 V-2 v6 200 26.0 12.0|30 10 3NO-3 a4 300 26.0 12.0
5 33 2NO-2 a5 100 23.0 15.0|16 22 34 V-2 +J 200 26.0 120| 6 34 5¢DV-1 &A 200 24.0 14.0
29 9 3v0O-2 +3 100 23.0 15.0(17 21 34 V-2 v3 200 26.0 120| 1 39 5¢ V-1 a K 100 14.0 24.0
8 30 INN= 8 90 16.0 22.0(36 2 34 V-2 *J 200 26.0 120| 8 32 5¢ V-1 s A 100 14.0 24.0
13 25 INN= v5 90 16.0 22.0(32 6 2v S+l v8 140 18.0 20.0( 9 31 5¢ V-1 & K 100 14.0 24.0
14 24 INN= a4 90 16.0 22.0|37 1 2v S= *6 110 16.0 22.0|13 27 5¢ V-1 a K 100 14.0 24.0
18 20 INN= v3 90 16.0 22.0(10 28 34 O-1 v6 100 11.0 27.0(14 26 3NO-1 oT 100 14.0 24.0
40 19 INN= v3 90 16.0 22.0(12 26 24 V-1 +J 100 11.0 27.0(24 16 5¢ V-1 & K 100 14.0 24.0
16 22 3v V-1 *A 50 7.0 310|129 9 24 V-1 +J 100 11.0 27.0(28 12 5¢ V-1 a K 100 14.0 24.0
27 11 2v0O-1 *4 50 7.0 31.0(39 38 34 O-1 vA 100 11.0 27.0(36 4 5¢ V-1 s A 100 14.0 24.0
35 3 240-1 *A 50 7.0 31.0 (14 24 Pass 5.0 33.0(40 20 5¢ V-1 vJ] 100 14.0 24.0
39 38 2v0O-1 *5 50 7.0 31.0(40 19 Pass 5.0 33.0(18 22 5v N-1 +Q -100 3.0 35.0
32 6 1v V= s A -80 2.0 36.0(13 25 3v S-1 *6 50 2.0 36.0(38 2 5vN-1 + K -100 3.0 35.0
7 31 2vV= *A -110 0.0 38.0(23 15 2NDN-1 42 -100 0.0 38.0|11 29 5vDN-1 ¢Q -200 0.0 38.0
40 « E10753 41 4852 42 48
Vast vE42 Nord vKn72 Ost vED106
Ingen ¢ 10543 ov ¢ EK1042 Alla ¢+ D7642
&Kn 74 D85
484 « D96 o KKn74 496 « KKn1052 & E7643
vKD108 v7 v 95 vKD1086 v 853 v9
¢ EKN8 ¢ D972 + D9 ¢+ Kn7 +83 + EK95
#10983 &K7642 #DKn653 #E1092 #K103 #974
# KKn2 « ED103 «D9
v Kn9653 v E43 v KKn742
+ K6 4 8653 ¢+ Knl10
#ED5 £K8 #EKn62
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poéng
9 31 44 N= v7 420 380 00| 9 33 3¢ N+1 49 130 380 00| 2 1 4vS= +8 620 38.0 0.0
11 29 3v S= 48 140 330 50|37 5 2NN= vK 120 360 20|20 22 3v S= a2 140 36.0 20
14 26 24 N +1 v7 140 330 50| 2 1 2¢ N+1 49 110 310 7.0{10 32 54 O-1 v7 100 340 4.0
15 25 3v S= vQ 140 33.0 50|10 32 3¢ N= 9 110 310 70|14 28 4v S-1 +8 -100 28.0 10.0
37 3 2vS+1 &T 140 33.0 50(12 30 2¢ N+1 49 110 310 70|15 27 4v S-1 aT -100 28.0 10.0
5 35 24 S= &T 110 25.0 13.0|29 13 3¢ N= vK 110 310 70|38 4 5vS-1 +9 -100 28.0 10.0
6 34 24 N= v7 110 250 130| 6 36 3v O-1 v3 100 250 13.0(39 3 4vS-1 a2 -100 28.0 10.0
18 22 24 N= v7 110 250 130| 7 35 3vO-1 +8 100 25.0 13.0|40 21 4y N-1 *A -100 28.0 10.0
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&T 110 25.0 13.0|15 27 INN= v8 90 22.0 16.0|16 26 34 O= v4 -140 22.0 16.0
&K 100 20.0 18.0|16 26 14 S= v9 80 20.0 18.0|18 24 34 O+1 v2 -170 19.0 19.0
v7 -50 16.0 22.0(18 24 3¢ N-1 vK -50 10.0 28.0(37 5 34 O+1 +*J -170  19.0 19.0
48 -50 16.0 22.0(19 23 3¢ N-1 vK -50 10.0 28.0| 7 35 34 O+2 v2 -200 16.0 22.0
48 -50 16.0 22.0(20 22 3¢ S-1 v9 -50 10.0 28.0 9 33 5¢vDS-2 a2 -500 13.0 25.0
&T -100 8.0 30.0(25 17 24 S-1 v6 -50 10.0 28.0(31 11 5vDS-2 & K -500 13.0 25.0
v7 -100 8.0 30.0(31 11 3¢ S-1 v9 -50 10.0 28.0| 6 36 44 O= *T -620 8.0 30.0
v7 -100 8.0 300(34 8 34 S-1 v9 -50 10.0 28.0(29 13 44 O= va -620 8.0 30.0
v7 -100 8.0 300(38 4 3¢ S-1 v9 -50 10.0 28.0(34 8 44 O= v2 -620 8.0 30.0
v7 -100 8.0 30.0(39 3 3¢ N-1 vK -50 10.0 28.0(12 30 44DO= v2 -790 3.0 35.0
&T -200 2.0 36.0(40 21 3¢ S-1 v3 -50 10.0 28.0(19 23 44DO= v7 -790 3.0 35.0
a K -470 0.0 38014 28 2v O= &K -110 0.0 38.0(25 17 44DO+1 2 -990 0.0 38.0
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